

	α	$\sin \alpha$	$\cos \alpha$	$\operatorname{tg} \alpha$	$\operatorname{ctg} \alpha$
0°	0	0	1	0	/
30°	$\pi/6$	$1/2$	$\frac{\sqrt{3}}{2}$	$\frac{1}{\sqrt{3}}$	$\sqrt{3}$
45°	$\pi/4$	$\frac{\sqrt{2}}{2}$	$\frac{\sqrt{2}}{2}$	1	1
60°	$\pi/3$	$\frac{\sqrt{3}}{2}$	$1/2$	$\sqrt{3}$	$\frac{1}{\sqrt{3}}$
90°	$\pi/2$	1	0	/	0
180°	π	0	-1	0	/
270°	$3\pi/2$	-1	0	/	0
360°	2π	0	1	0	/

$$\begin{aligned}\cos(\alpha \pm \beta) &= \cos\alpha \cos\beta \mp \sin\alpha \sin\beta \\ \sin(\alpha \pm \beta) &= \sin\alpha \cos\beta \pm \cos\alpha \sin\beta \\ \sin(\pi/2 - \alpha) &= \cos\alpha \\ \cos(\pi/2 - \alpha) &= \sin\alpha\end{aligned}$$

$$\begin{aligned}\cos 2\alpha &= \cos^2\alpha - \sin^2\alpha \\ \sin 2\alpha &= 2\sin\alpha \cos\alpha\end{aligned}$$

$$\begin{aligned}\cos \alpha/2 &= \pm \sqrt{\frac{1 + \cos\alpha}{2}} \\ \sin \alpha/2 &= \pm \sqrt{\frac{1 - \cos\alpha}{2}}\end{aligned}$$

$$\begin{aligned}+ &= \leftarrow \\ - &= \rightarrow\end{aligned}$$

$$\begin{aligned}\operatorname{tg}\alpha &= \sin\alpha/\cos\alpha \\ \operatorname{ctg}\alpha &= \cos\alpha/\sin\alpha\end{aligned}$$

$$\begin{aligned}1 + \operatorname{tg}^2\alpha &= 1/\cos^2\alpha \\ 1 + \operatorname{ctg}^2\alpha &= 1/\sin^2\alpha\end{aligned}$$

$$\begin{aligned}\operatorname{ctg}\alpha &= \operatorname{tg}(\pi/2 - \alpha) \\ \operatorname{tg}\alpha &= \operatorname{ctg}(\pi/2 - \alpha)\end{aligned}$$

$$\begin{aligned}\operatorname{ctg}x &= \operatorname{tg}^{-1} \\ \cos\alpha &= \pm \sqrt{\frac{1}{\operatorname{tg}^2\alpha + 1}}\end{aligned}$$

$$\begin{aligned}x &= r \cdot \cos\alpha & r &= \sqrt{x^2 + y^2} \\ y &= r \cdot \sin\alpha & \alpha &= \arctg y/x + k\pi\end{aligned}$$

$$\begin{aligned}\sin\alpha + \sin\beta &= 2\sin\alpha + \beta/2 \cos\alpha - \beta/2 \\ \cos\alpha + \cos\beta &= 2\cos\alpha + \beta/2 \cos\alpha - \beta/2 \\ \cos\alpha - \cos\beta &= -2\sin\alpha + \beta/2 \sin\alpha - \beta/2\end{aligned}$$

$$\begin{aligned}\sin\alpha \cos\beta &= 1/2(\sin(\alpha + \beta) + \sin(\alpha - \beta)) \\ \cos\alpha \cos\beta &= 1/2(\cos(\alpha + \beta) + \cos(\alpha - \beta)) \\ \sin\alpha \sin\beta &= 1/2(\cos(\alpha + \beta) - \cos(\alpha - \beta))\end{aligned}$$

$$\begin{aligned}y &= A \sin(\omega x + \rho) \\ A &- \text{amplituda} \\ \omega &- \text{krožna frekvencia} \\ \text{osn. perioda: } &2\pi/\omega \\ \mathbf{p \cdot \sin x + q \cdot \cos x = A \cdot \sin(x + \alpha)}\end{aligned}$$

$$\begin{aligned}\sin(\pi + \alpha) &= -\sin\alpha \\ \cos(\pi + \alpha) &= -\cos\alpha \\ \sin(\pi - \alpha) &= \sin\alpha \\ \cos(\pi - \alpha) &= -\cos\alpha\end{aligned}$$

$$\operatorname{tg}(\alpha + \beta) = \operatorname{tg}\alpha + \operatorname{tg}\beta / 1 - \operatorname{tg}\alpha \operatorname{tg}\beta$$

$$\operatorname{tg}(x/2) = \pm \sqrt{\frac{1 + \cos\alpha}{2}}$$

$$\begin{aligned}\sin x = a \quad x &= \arcsin a + 2k\pi \\ &= \pi - \arcsin a + 2k\pi \\ \cos x = a \quad x &= \arccos a + 2k\pi \\ &= -\arccos a + 2k\pi \\ \operatorname{tg} x = a \quad x &= \operatorname{arctg} a + k\pi \\ \operatorname{ctg} x = a \quad x &= \operatorname{arcctg} a + k\pi\end{aligned}$$